
 

Part 3 

Can you multiply and divide by 10, 2, 5 and 3? You have 5 minutes to answer as many questions as you can. If you get 

45 or more you can move on to the next challenge. 

4 x 5 = 16 divided 

by 2 = 

18 ÷ 3 =  110 shared 

into 10 = 

2 sets of 12 

= 

10 ÷ 2 =  9 shared 

into 3 = 

22 divided 

by 2 = 

4 ÷ 2 =  10 x 11 = 

60 ÷ 10 = 8 sets of 10 

= 

5 x 9 = 5  sets of 5 

= 

10 sets of 5 

= 

24 ÷ 3 = 55 shared 

into 5 = 

2 sets 8 = 60 ÷ 5 = 24 ÷ 3 = 

2 x 9 = 60 divided 

by 5 = 

3 x 7 = 2 sets of 11 

= 

40 divided 

by 5 = 

8 x 10 =  3 x 3 = 10 divided 

by 10 = 

120 ÷ 10 = 35 ÷ 5 = 

35 ÷ 5 = 12  sets of 

2 = 

8 ÷ 2 = 15 shared 

into 3 = 

5 sets of 8 

= 

5 x 9 = 10 x 0 = 18 divided 

by 3 = 

3 x 12 = 2 x 6 = 

3 x 8 = 0 divided by 

5 = 

120 ÷ 10 = 2 shared 

into 2 = 

90 divided 

by 10 = 

16 ÷ 2 = 15 shared 

into 5 = 

5 sets of 1 

= 

2 x 11 = 10 x 12 = 

How many did I get right?       I need to repeat / try the next level 

 


